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(a)
Existing U Value  =  0.35 W/m² ºC, Existing R =  2.857        (1/0.35)
Required U Value  =   0.16 W/m² ºC, Required R =  6.25        (1/0.16)

6.25 minus 2.857 =   3.393,       R to be achieved using 1, Glass fibre quilt and 
2, Urethane board

Part i, 

	Element
	k
	1/k
	Thickness (m)
	R

	Glass fibre quilt
	0.04
	25
	X
	3.393


25x  =  3.393,   x  =  3.393 /  25  =  0.135 m ,  Answer =  135mm of Quilt
Part  ii ,

	Element
	k
	1/k
	Thickness (m)
	R

	Urethane board
	0.023
	43.478
	X
	3.393


43.478x  =  3.393,  3.393  /  43.478  =  0.078 m ,  Answer  =  78mm of Board
